Fit to proton spectra
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This is with the mass of the deuteron, but it is exactly the sam for protons
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There’s no way to fit it with a LT!
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 Checked for available MC production with pp @ 900 GeV:

e 1M events

* Production with 300M pp collisions @ 13 MB

o Talked with Ante: an instability was found in the FORTRAN code of EPOS,
which causes 15% job failure

e |In contact with Klaus Werner for solving this -> 100% success rate and
submission asap

|t is the best thing, because there’s a limit on the number of files in a
directory (much fragmentation is not possible)



